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begin
begin
update A A b
set =
where = —)> A B
I update B B ¢
set = ¢ D
where = end

end




ACID

* Atomicity
 Consistency
* Isolation
« ACID * Durability
7 8
* Begin: .
» Commit: .
* Abort:
* (End):
9 10
1 1
Ti T2 Ti T2
begin begin begin
read(A) read(A) read(A)
write(A:=A 30) write(A:=A  20) D begin
end end read(A)
write(A:=A  20)
A 100 Ti1, T2 end
50 write(A:=A 30)

end
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2 2
Ti T2 Ti T2
begin begin begin begin
read(A) read(A) read(A)
read(B) write(A:=A  20) write(A:=A  20)
end read(B)
write(B:=B+20) read(A)
end read(B)
end read(B)
A.B 100 A B 20 write(B:=B+20)
° Ti1...Tn .3
- (P1)
¢ - (P2)
A
- - (P3)
15 B 16
Lock
P1 P2 P3

Read Uncommitted

Read Committed

Repeatable Read © >

Serializable x x<
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lock A
lock B
lock B
T
lock A
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(scan)

(search)

(indexing)
(hashing)
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(search)

(indexing)

- 1| p K
5 2‘><"8
. 8 1 b5
10 5 1»13
11| 4 1
25 1313 10 2
(indexing)
.1
- 1 1 .
"2 - ISAM
B : — B-tree, B+tree
— R-tree
5P i ~ VSAM
K45 | | 5 K48
— 8 K50
K48 " T
K50 | m 50
13 K48
27 2
ISAM
(Indexed Sequential Access Method)
* Tree . Tree
: ID
“R2) TN
116J‘95182\ 3 116}.912\ :
17 32 [ 4/ 17 32 3
L 6 J‘az 48\‘13 16 \ D 1 64 -4"‘33 " 13 16 &4
257 512 \: 1 357 s \:
13 256 8 \193 256
s NS\ : TRTINCEEEAN
769 1024 \ o 769 1024 \




ISAM ISAM
« (9, )
Lo [k [P [ [ [pgs ko] P |
K <k, <<k PEAR
<d d 7
9 p : JOT] Aol
2 7 10 z
-
8 10 2 13
10 2 8 13 L : =
13 20 10
20 7 10 20 »
B-tree (d B-tree)
[lm Pl TP R ] | B-tree
o « 18 5,25,33 28,10 22,13,16,7
— i root d<i<ad
— i root 2<i<2d
MM T 1
. R Key R 18
Key(R,)) < Key(R,) <---< Key(R,)
2d
P, R
—j=1 Key(R) < Key(R))
— I<j<i+l Key(Ry.)) < Key(R) < Key(R))
—j=i+l Key(R) < Key(R)
B-tree B-tree

+ 18 5,25,33 28,10 22,13,16,7

5 18
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+ 18 5,25,33 28,10 22,13,16,7
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Lls [ ] [dasT[ []
5 25




B-tree

- 18 5,25,33 28,10 22,13,16,7

B-tree

- 18 5,25,33 28,10 22,13,16,7

RN 18 128 [
LIsTT T [les[[3]] Lls 0 T [Cles[ [ T[0T ] ]
B-tree B-tree

+ 18 5,25,33 28,10 22,13,16,7

NETENETN
18 28

LLs [ lwl | [fas] ] [[[[3]]
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+ 18 5,25,33 28,10 22,13,16,7

NETENETN
18 28

LLs ol | [f22]os][[[3]]

B-tree

+ 18 5,25,33 28,10 22,13,16,7

B-tree
« 18 5,25,33 28,10 22,13,16,7
Tl 11

118 [~

10 28

[ [5]]

HINEEID

L1 (22 [2s] [ ]33]

[[sI[ [[[Ts] e[ ] [[e2] [as[|[]33]]
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B-tree

- 18 5,25,33 28,10 22,13,16,7
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B-tree
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